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Have collocations and stative vs progressive

1 He has a lot of money. 
2 _______________________
3_______________________
4_______________________
5_______________________
6_______________________
7_______________________
8_______________________
9_______________________
10______________________
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11_______________________
12_______________________
13_______________________
14_______________________
15_______________________
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Useful vocabulary

broken leg    "many skills"   
"a lot of money"   “a few hobbies” 

holiday   question   
a drink   "a dental check-up"   

friends     skills    "a lot of work "
ideas     pizza    rest 
"to make a choice"
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Write  sentences for each picture using  the correct form of the verb “have” (has/ have vs ”is having”).



Have collocations and stative vs progressive ( possible answers) 
1 He has a lot of money. 
2 He is having a dental check-up. 
3 He has to make a choice./ He has an apple in one hand and a cupcake in the other. 
4  He is having a holiday. 
5 He is  having a drink./ He has a whisky every evening. 
6 He has some ideas. 
7 He has a question. 
8 He is having a rest. 
9 He is having surgery. 
10 He has two friends. 
11 He has a lot of work. 
12 He has a few hobbies. 
13 He is having pizza for dinner. 
14 He has a lot of skills. 
15 He has a broken leg. 




